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Note:- You have four choices for each objective type question as A, B, C and D. ¥l #ssi LSl SLS 6L S s Hansticn i
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result in zero mark In that question.

Marks : 156

1. 1. The point £(2,0) Jies on R R — P20 & -1-1
xand y—axis ¢ Y X () z—-axis sz ©) y-axis gY 8) X—axis g% (p
2. Mid point of the points (2,-2)and (-2,2)is - Qyn € (-2 ,2) 1 (2 .-2) b6 _2
1.1 (D) (0.0) @ (2,-2 (B8) (2.2 (A)
3. Symbol = isusedto _,f_;:;n J e =3
congruent £/ fl> (D) similarto & (C) ratio &=s’  (B) proportion &F (A)
4. Diagonal of a parallelogram divides -q_rfr':'_‘r 9 u}“‘” 1»oel 2oL J/ ¥ Eusp goi> -4
the parallelogram into two triangles.
concurrent L (% (D) congruent J‘I.E‘* (C) non parallel ($1# /{ (B) parallel {it& (A)
5, The bisectors of the angles of a triangle are s et Ll Lt u’( _5
parallel (17 (D) congruent Ji* (C) concurrent A& (B) equal sz (A)
6. Which one of the following has no unit? S‘Jng.‘fé&’l J/J J:;. (U494 U, -6
width  Jdizz (D) ratio =+ (C) length  JU (B) volume £ (A)
7. The altitudes of an isosceles triangle are congruent. _u_?Z_.nJ‘U-" Eian Pl g/éufd:l—; -7
5 (D) 4 (C) 3 (B) 2 (A)
8. Altitude of a triangle means perpendicular from - bk (5sF ..F(‘.J}' 1=y Lifusg el oj _8
to the opposite side.
centre J» (D) the mid point & Jis  (C)  side & (B) vertex UL (A)
2 2
9 product of [‘x J’] ~1| isequalto _+4I4[x y] -1 S dr” -9
x+2y (D) 2x=-y (©) x=2y (B) 2x+y (A)
10. Which of the following sets has the closure property ® S KUk ol U 5l 2 o =10
w.r.t addition?
1
{Lﬁ,g} (©) {o.1} © {0.-1} ®) o ®
11, log,axlog b canbe written as -t W% log, axlog b _11
log, ¢ (D) log, b ©) log, a (B) log,¢ (A
12. Factors of a‘—4b" are S Qs L at -4t 12
(a® =2b*)(a@* +2b*) (B) (a-b)(a+b)a® +4b?) (A)
(a—b)a® +2b%) (D) (a-b)(a+b)(a®-4ab?) (C)
. B 3, 2204 3 J s
13. The degree of the polynomial X" V" +3xy+ )" is g 2n € XY AIXY+Y o0 2 .13
4 (D) 3 (C) 2 (8) 1 A)
4 1 2 4 4 l +2
14. The square rootof ~ +?+ is e By X TT -14
£(x? - ) £(x-1) £(x?+ =) (x4
. x: (D) x (C) X2 (B) o (A)
15. if X is nolarger than 10, then Inslre 10ad § X Ji 15
x=8 (D) x>10 (©) x<10 ® x=10 (A)
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Mathematics (Science Group) (s 1 NS (/)
Paper: I (Group:1I) . ..r:/l&;)
Time: 2: 10 Hours Subjective wlwi) & 2:10:5
Marks : 60 60 /

<G 9 ) Al o2 Ll Ul el Lpn o e o o)
Note :- Section | is compulsory. Attempt any three questions from Section II but question
No.9 is compuisory,

Section I il o

2. Write short answers to any Six parts : (6x2=12) ’éfjair'ﬁ/#‘:"z"f‘"j’( -2
i. Define row matrix with an example. g S e § S -
5 -10
i, |sthe given matrix singular or non singular D= [_2 4 :[ Db 2L B b 6 i Ly -ii
3 3 =)
i Simplify s ; 32 <%~ i
iv. Define a complex number, =AY U"a"J -iv
1 ;
V. Evaluate . log, 128 '2; ~ -V
vi. Express in ordinary notation 9.018 x 107 e el o
2..3 4 b F. 4
) x’y’ =52z Xz, o
: XY =5z x=4,y=-2,z=-1 . i i
vii. Evaluate poe for Y Lk i S xvz v
1
vi. 1t x—L =4 then fing S PPN I -L; Fax——=4 j-vii
x et - = x x
ix. Factorize it 27x° + 64 y3 -?:“: $F -ix
3. Write short answers to any Six parts : (6x2=12) -&"'§"ﬁ/ﬂ£”'2"{“d’r -3
. Define least common multiple (L.C.M). g S PO
ii. Solve the equation. VX=3-7=0 -E S s i
ii. Solve e+2]=3=5-|x+2] - i
iv. Find the values of mand ¢ AP S o mLSE g Y=t S Ly 2x—y=T

by expressingtheline 2X—»=7 intheformof JV=mx+c
v.  Verify whether the point ( 2, 5) lies on the line U2 &q.-g': £ 2x-y+1=0 2.5 & S ZEJd v
2x=y+1=0 or not .
Vi. Find the distance between the pair of points A(-4.\/5).B(-4,—3) S dob Y Lussalst £ o i
e 15 Qs s Ly e BB-6) Ly A(2,-6) 45, _yi

vii. Find the mid-point of the line segment joining  A4(2,—6)and B(3,-6)

viii. Define ray. gl S viii
ix.  Define parallelogram. FEoS J Lwugas -ix
4 Write short answers to any six parts : (6x2=12) -ésauz/“’&rzwa.xj/ -4
i. Define right bisector of a line segment. P St L a5
4em, 3 em, sem e bdh elba ufdS Lun £ wit Ji S oty -l
ii. Explain that the given lengths can be the sides of a triangle or not. 4 cm, 3 cm, 5¢cm
iii. Define proportion. gy St i
iv. State converse of pythagoras theorem. . -:‘.'—'r‘-ULa-%ﬂs & L/'G -iv
v. Verify that the triangle having following sides is a N ALY NN TRGI P Y AT N SE SEGA v
right - angled. a=1.5cm , b=2cm .= 2.5cm a=158cm ,h b=2cm ,c= 25cm

(Turn Over)



vii.

wiil.

Note:

5.(a)

(b)

6.(a)

(b)

7.(a)

(b)

8.(a)

(b)

iX.

(2)

Find the area of the given figure Beesn . -z;‘i:(}” ¥ S d{b
3
1
Define triangular region. ' EwS S =
Construct 2aABC in which mAB = 4.2cm,mBC =3.9cm,mCA =3.6cm S -k ABC 24
Define circumcentre of triangle. _’d,':...é,‘/‘:" J /C' ool Lt

Section - IT ¢y
e (O AIE A @) #T L Vsl tirtads

Attempt any three questions. Each question carries Eight (8) marks but question

number 9 is compulsory.

Solve by Cramer’s rule. 2x-2p=4;3x+2y=6 S LS i X
2 4
(216)} x(25)*
7 &
Simplify 0.04) .z &
Prove that ' log, mn =log, m+log, n Sk
Mg + b +c° =43and ab+bc+ca=3 ; ab+bc+ca=3 ,, a*+b’+c* =43 4
then find the value of a+b+¢ ,-.'.__-"-’-:r'P..-..EJ a+b+cin
4 -
Factorize 9x* +36y* £
Use division method to find the square root x* =10x* +37x% - 60x +36 _é.'(}“ siee &/ -'Cf::‘J
x—3 x-=2 -1 ‘
Solve the equation 3 2 ZES e

Construct aABC 3nd draw bisectors of its angles.
mAB =3.6cm , mBC =4.2cm,mLB =75 .
Prove that any point —Enlis Lot L A5 s P WIS s sl B3l J( B LN T
equidistant from the end points of a line segment is on the righ.t bisector of it. ' I I
OR L
Prove that parallelograms on equal  -Urdsr <zt JE Lueuigans Juldsl sz o .cfu Ul S b

bases and having the same ( or equal) altitude are equal in area.
]
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_g ot Lugsls £ b ABC &b

Vi

Vil
= viii

-ix

vy

(a)-5
(b)
(a)-6

(b)

(a)«7

() .
(a)-a

(k)

-9
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Paper:I (Group:II) Objective ((5%**) ( -rJ/ 123) I: 24
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-:{_'J/':‘G..cﬁ&(’ct.{l;lr:lir-/g:’:“!’i_‘.-J:"".:/J)G..JU)}UQ"_‘@)&VL/-[J[}”A{Q (874 ..ujifr.) Do C, B A=l |ﬁ.“6ﬂ'v£-|_}?r; e
- rrr»“"}bli.,.. ‘:‘.‘o;}:iu:_'»iﬂ;i_/r‘;):bri;i- )Hu:}’:u‘: PR o
Note:- You have four choices for each objective lype question as A, B, C and D. The choice which you think is correct, fill that
circle In front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will
result in zero mark in that question. )

1. 1 A point equidistant from -« ts & < L Bt Ul 7 el Goausy & 15 285 2B o B

- the end points of a line segment is on its

median_k-; (D) perpendicular »¥ (C) right bisector i<t $»¥ (B) bisector st (A) .
2. Ifthe length and width of a rectangle are "a" and "b" -€ » J, &1 7 # b JU;; s a Jt,lg,f J—J"V =L M2

then -its area will be

atb o = axb (© a-b (B) a+b (A)
3. Aline segment has mid point/ paints - Qor S sl L5 S 45 0akS O/ -3
4 (D) 3 (&) 2 (8) 1 (A)
4.  The right bisector of the sides of a triangle are Lot Sl e et " -4
| concurrent ki (" (D) congruent J‘Li‘-‘ (C) equal £z (B) collinear W/ (A)
5.  In aparallelogram, opposite angles are St sl e LS 5
parallel JJs1# (D) non congruent J‘U"’ ~#  (C) congruent J‘U‘* (B) concurrent L 4 (A)
6. Inatriangle, there can be right angle /angles. 3= RO R D A P L <N tf( -6
4 (D) 3 (C) 2 (B) 1 (A)
7. Aline segment has end points ' ' St ey &k L LT
4 (D) 3 (C) 2 (B) 1 (A) |
8. The solution set of [X—4|=—4 g ek S ¥ |x—4|=—-4 _g
-8 (D) - 16 ©) {} (8) 4 )
9. Point (-3 , -3) liesin quadrant. R 4 & L s~ (-3,-3) &5 _g
IV (D) IIT ). - II (B) I (A)
10. LCMof a’+b° and a* =h"is ce Jisbons ¢ at =b* L a’+b 10
a-b (D) a' -b* () a* - b’ (B) at+b'  (A)
11. Factorsof 3x°—x-2 are AdA s 3x-x=2 1
(x=1),3x+2) () (x-1).(3x~2}) (©) (x+1),3x+2) ® (x+D,Bx-2) (a
. — o 1
12 4-b a+b is equal to - A4y b a+b =12
—2b -2a _2 2a
a’ ~b? =) a’ =b? ©) g2 -p? (B) a’-b* (A)
13. The logarithm of unity to any base is —s brisly /gb’? £ 1" 2 gl er -13
e (D) 10 (C) 1 (B) 0 (A)
14 The symbol " for all " is e el U .14
> o 4. © v ®) A (A)
{Jﬁ 0 } [JE 0
15. | o 3| iscalled ______ matrix. et TS 0 J3|-18
singular b (D) scalar A (C) unit Slws  (B) zero S (A)
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Roll No. Q_WL’ Annual

Mathematics (Science Group) ( ﬁ’u‘uf « T SSILE) (-f’ftf"i') o
.Paper: I (Group:II) ( .r:/ ) I 4
Time: 2 : 10 Hours Sublective_ (i) & 210 12
Marks : 60 60: A
-9 )/.‘Ulrw«?é @Uﬁﬁu)lfcfc_dfc_u:ru_b -q.dJle:f.'.-p P
Note :- Section | Is compulsory. Attempt any three questions from Section II but question
No.9 Is compulsory.
Section I Jil%»
2. Write short answers to any Six parts : (6x2=12) :iﬁ(}’a.«l,l:‘:/ﬂ&'lzwc.-éf -2
3 0 6 6 3 @
i I A‘[_l 2} and B"‘[S then find AB e S B=[5] A=l _2]/{ i
ii. Define square matrix with an example. _ S Je sl ZEw) S8 Ly i
3 " ; 3
lii. Represent the number 220;1 number line. -i;u; e WL A A N 22 sk i
iv. Simplify ¥ +(5%) & Ay
V. Express 0.0000000035 in scientific notation. -ﬁ'u!(.‘} u‘::lf 4/ 0.0000000035 -V
Vi. Express 2108 x—3102Y in the form of a single logarithm. 2L sk J(gb’) wly f 2logx=3logy _vi
_g_:r,w =J § log30 7 log2=0.3010, log3=0.4771,1og5=0.6990 /i _vii
vii. f log2=10.3010,log3=0.4771,10g5=0.6990 tnen find the value of log 30
‘y-2 . . Xy=-2z
viii. Evaluate %_z_ for x=3 ,y=-1, z=-2 x=3,y=-1, z=-2 S :-;5(:1" v J —-—'sz— ~viii
. Factorize 125x3 == 133 1)"3 _i d:i -ix
3. Write short answers to any Six parts : (6x2=12) _ﬁ:@ymﬁﬁriqudf -3
i. Find H.C.F of 39x"y°z and 91x°y°z’ ek A i
ii. Solve the equation Jx=-3-7=0 ..:;f! S I el il
ii. Define radical equation and give an example. ~Z el st 2y Sahl ol il
iv. Define abscissa and ordinate. ZEw P SeadT ol e v
_Z-‘:r':"" u;'_‘g J ‘et oai'm’ L&LFJ:LPJ y=mxve s 2x-y=T i v
v. Find the value of 'm' and 'c’ by expressing line 2% =) = 7 intheform Y =nmx+c
"vi. Find the midpoint between pairs of the points A(2,-6),B(3,-6) s Qe € Uslz £ 48 i
vii. Define collinear points. _.’;'5...4!/7 S AU A -vii
viii. State S.5.S = S.S.S postulate. L o S = LSS - i
iX. |n the given parallelogram ABCD, find the value of x and mma‘_:';(:h" ed & m sl x Ut ABCD Luruigi® J -ix
¥ /{/ = @] < > Y =
z st R Lq"‘* “:.’”
/4‘5’ &%
el 3 A
4. Write short answers to any six parts : (6x2=12) -‘&:.—.-QLR/*Z.-#ZQ.-_.J/ -4
i. Define bisector of the angle. -2’;_.51/"1; g L,:U -
i. Define quadrilateral. S § Ay i
iii. Define congruent triangles. ) Sutl S -

Verify that  —q 2ol /1zi0 el SEE G A0t a=9%cm , b=12cm , ¢= 15em ypf fuwileds .iv

the triangle having the measure of sides 8 = 9cm , b=12cm , ¢= 15cm s right angled.

Define pythagoras theorem. 2 oD PRI v I Y
Define altitude of paralielogram. S St L L v

(Turn Over)
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" vii. Find area of the given figure, e 3, ¥ N RN -vii

3cwa.
- b . =
viii. Define incentre of triangle. -~ $ L bt £ 2l i
ix. Construct a XYZ m YZ = 7.6cm, mXY = 6. emand m£X = 90° &b XYZod: _ix

Section - IT (92 a0
- U0 I (8) 2T L )z Lcimbea S o)

Note: Attempt any three questions. Each question carries Eight (8) marks but question

number 9 is compulsory.

. 4x+y=9
§.(a) Use Cramer's Rule to solve the equations

-’c‘_{:‘_)’a..?,)rf./.f; I(u;‘ljl/ (a)-5
=3x—-y=-5 i

aZ-‘ a!m a.'!u
{b} Slmp”fy aH-m a!lﬁ-ll aru.‘ .,"é /J:’ {b)

(8.97)° x(3.95)° ’

6.(a)  Use log table to find the value of 537 -";{(P.;,fq_ugfdw(f:tf) (a)-6
(b) If X+y+z=12 ang xX*+y*+22=64 Fax"+y'+22=64 _y x+y+z=12 /i (b)
then find the value of XV + Yz +2zx :zi_’(}v..-_.éJ XY+ yz+zx
7.(a) Factorize X =a®+2a-1 - §F (a)-7
(b)  Use division method to find the square root of the expression e B K2 F; 2k (b)
4x? +12xv+9)° +16x+24y+16 4x’ +12xy+9y° +16x+24v+16
8.(a) Solve the given inequality -5 4_23": <1 ZES S e S F 6 (a)-8
(b)  Construct triangle PQR and draw altitudes of its sides. & LB ot L st £1 4 2k PQR AL (b)
m RP = 3.6em, mLQ =30" , mLP =105" m RP = 3.6cm, m£Q =30" ,mLP =105"

-2_me* _f)f.’ﬂwld:l/a.uy L 15 a:?yff’:b { L Sof L b ab Jf & -_f‘ /'1 -9
- Any point on the right bisector of a line segment is equidistant from its end points. Prove it.
OR L
Prove that triangles on equal base and ..d’un AL vy Ut b B syl e 6L P «_/‘.?/ 1] fi-;f'.:f.v

of equal altitudes are equal in area.
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